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There are eight membersi.e. A, B, C, D, E, F, G and H who belong to a family having three generation. D is the
only daughter of H and she is unmarried. H is the father-in-law of G. F is the son of A, who is husband of E. B
and D are siblings. F is the brother of G. Cis the grandson of E. 31T HC&d FYTT U, &, H, 9, é‘ TH, S

3k v § S T I arr oRER ¥ FERT DHa?rsam’tr-hq'aﬁ%aﬁTagaiﬁaT%?r%l H, G &T
HEY §1 AT OF §, S EST 9fa §1 B3R D smé-ag=r & F,G & oS ¥ C, EHT Nar T

Q28. How G related to H?
(a) Son (b) Daughter (c) Son-in-law (d) Daughter-in-law (e)
None of these

Q29. How is B related to C? (a) Brother (b) Son (c) Father
(d) Mother (e) None of these

Q30. Who among the following is the grandfather of C? (a)
H(b)D (c) F(d) G (e) E
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Seven boxes K, L, M, N, O, P, Q are placed one
above another. More than three boxes are
placed between L and P. Only one box is placed
between box N and O. Box N is placed above box
L. Box Q is placed immediately above K. Only one
box is placed between Q and M. Not more than
one box is placed between P and K. Box Q is not
placed above O.

|1 853 K, L, M, N, O, P, Q T G8Y & 3YT TW T3
LIRPF T NT A 3T dFa @ Tv | STFT N
31T 0 & 1T Shaol TF 1T QT AT ¢ | ST N Y
99T L & FYT @1 IAT ¢ | 9197 Q BT K F S I
@1 ATl Q 3t M & i Faa v SiFT @1 ITAT
¥ 31 gt p 3t K F g v Rear @ ¥ Rear
Q, O & FYT AT (@I I AT ¢ |
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Q31. Which of the following box is kept at the top? (a) Q
(b) L (c) N (d) O (e) None of these

- Q32. Which of the following box is placed immediately
Boxes above box M? (a) Q (b) L (c) N (d) K (e) None of these

N

L Q33. How many boxes are kept between box L and box K?
0 (a) One (b) Three (c) Two (d) Four (e) None of these
K

Q34. How many boxes are kept below box Q?
(a) Three (b) Two (c) One (d) More than Three (e) None

Q35. Which of the following box is placed immediately below
box O? (a) Q (b) L (c) N (d) K (e) None of these
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ROW JET TEA PIN HUB

If the given words are arranged in the order as they appear in a dictionary from left to right, which of the

following will be third from the right epd?zﬂ%\' feuw 1T Qreel &t 39 H q aﬁ'ﬁﬂﬁ' forar SaT § o
%H H d 910 F IV TH Ascahel A @S ¢ §, Aeafaf@a & @ Fia qrv sk & s gen?

(a) ROW (b) JET (c) TEA (d) PIN (e) HUB

How many letters are there in the English alphabetical series between the second letter of the word which is
second from the left end and the second letter of the word which is second from the right end? 37aIsit

JUIATAT H@aT # g F gAY &N i 910 B3R & ¢ 3R arsg @ e ST g BR ¥
a;atr%a:aﬁirﬁmﬁafmqa;? w w

(a) One (b) Two (c) Three (d) Four (e) None

Q3. If in each of the given words, the first alphabet is replaced by its previous alphabet and second alphabet
is replaced by its following alphabet as per the English alphabetical order, then how many words thus

formed will be without any vowels? If¢ 6T T g+ s H, gl dul & 3T NS gor @ 3R
gAY ot &t S IuiwHA F AR 38F Reafaf@a aof & gfaeaRa fFar smar &, o 5@
YHR fhda oreg el T & &t @2

(a) None (b) One (c) Two (d) Three (e) Four
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If in each of the given words, the second alphabet is replaced by its previous alphabet and third
alphabet is replaced by its following alphabet as per the English alphabetical order, then how many

words thus formed will have more than two consonants? If¢ T 1T ycd+ e ﬁ' qur &I
mmﬁ#ﬁtmaﬁﬁmﬁmaﬁ#maﬁwa;m%
fHaT ST &, @) 3H YR o T fhae asq) & Y @ AR T gl

(a) None (b) One (c) Two (d) Three (e) Four

Q5. If in each of the given words, every consonant is changed to its previous letter and every vowel is
changed to its next letter according to the English alphabetical series, then in how many words, thus

formed, at least one vowel will appear’qﬁﬁUWWQﬁﬁ Ucde <Told &l 3UF S
am#mﬁmm%aﬁtmwaﬁmmmma:mmmﬂm
# e RIT A1 &, A 30 YR Fhder e} i, H ¥ FA UF T R@E 37

(a) None (b) One (c) Two (d) Three (e) None of these



http://www.mahendras.org/

F 1 - 3 0 I FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

.

/

Ten persons are sitting in two parallel rows equidistant
from one another facing each other. A, B, C, D and E are
sitting in row 1 facing southand P, Q, R, Sand T are
sitting in row 2 facing north (not necessarily in the same
order). Csits third to the left of D. E is not an immediate
neighbor of D. C faces Q. One person sits between R and
Q. P is not an immediate neighbor of Q. B sits second to
the right of C. S sits second to the right of T. R is not an
immediate neighbor of P.

W ST &Y AT IfFal & v g & WA gt W oF
$Y T HT FIF 4581 A, B, €, D A E ufdar 1 A gfayor
A FH IS AP, Q, R, s AR TOfFT 2 A 3T A
ITHG FIH A8 (TR 7L fr s FAA) I, DFIA R
X T W AST R E, D FT ishead w8 81 c w1 o@
Q A 3R T R I Q&F i v afFa sl p, Q FT AFCaHA
TSIl ARl 81 B, CH ST A G FUT WASTEI SHSTRI TH
gl & gEY TUTT W 71 R, P &I fAweds vl 8 81
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facing  pow1 T | | T i[ Q6. Who among the following sits to the immediate
south | I I I | left of T?
| | (a) P (b) S (c) R (d) Q (e) None of these
: |
f'“:t"f fowz ™ | | | Q7. What is the position of E with respect to C?
"o p T R S q (a) Third to the left (b) Third to the right (c)

Immediate left (d) Immediate right (e) None of these

Q8. Who faces D? (a) S (b) P (c) R (d) Q (e) None of
these

Q9. Who faces the immediate neighbor of Q?
(a) B (b) A (c) D (d) E (e) None of these

Q10. Four of the following five are alike in a certain
way and hence form a group. Who among the
following does not belong to that group? (a) E(b) T
(c)D(d)S(e) A
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Qll. On which date of the month did Harsh celebrated his Birthday?
I. Harsh correctly remembers that he celebrated his birthday on an even numbered date of the month.
Il. Harsh’s friend correctly remembers that he celebrated his birthday after 26th but before 30th of the
month.

(a) If the data in Statement | is sufficient to answer the question while the data in Statement Il is not
required to answer the question

(b) If the data in Statement Il is sufficient to answer the question, while the data in Statement | is not

required to answer the question

(c) If the data in either Statement | alone or Statement Il alone is sufficient to answer the question

(d) If the data neither in Statement | nor in Statement Il together are sufficient to answer the question

(e) If the data in the Statement | and Il together are necessary to answer the question
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Q12. How many marks did Saurabh scores in the hundred marks exam?
I. Saurabh scored two digits marks and his marks was completely divisible by 19.
Il. Saurabh scored more than sixty percent but less than ninety percent of total marks

&t el T gdier 7 @ F fFaa 3e gread fRe?
FReT F a1 3l & 3F ured v IR 38F w19 F @ g Qs I
mﬂ#mqﬁam#maﬁmmaﬁ#ﬁﬁam#mmmm

(a) If the data in Statement | is sufficient to answer the question while the data in Statement Il
is not required to answer the question

(b) If the data in Statement Il is sufficient to answer the question, while the data in Statement

| is not required to answer the question

(c) If the data in either Statement | alone or Statement Il alone is sufficient to answer the

question

(d) If the data neither in Statement | nor in Statement Il together are sufficient to answer the

question

(e) If the data in the Statement | and Il together are necessary to answer the question
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Q13. Who among J, K, L, M and N is the shortest?
I. Jis shorter than K. M and N are not shorter than K.
Il. Lis shorter than K.

LKLM3IR NH @ & BT aiT 82
1.), KT BET g1 MR N, KT B 781 &l
2.L, K® e g

(a) If the data in Statement | is sufficient to answer the question while the data in Statement Il is
not required to answer the question

(b) If the data in Statement Il is sufficient to answer the question, while the data in Statement | is

not required to answer the question

(c) If the data in either Statement | alone or Statement Il alone is sufficient to answer the question

(d) If the data neither in Statement | nor in Statement Il together are sufficient to answer the

question

(e) If the data in the Statement | and Il together are necessary to answer the question
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Five friends K, L, M, N and O earn different salaries. N earns less than K and L. M earns less than
only one person. O earns more than only two persons. K earns 2 lakhs and is not the highest.

9T SIEd K, L, M, N 3T O 3Ta9T-37a9T ddeT FATT &1 N, K3 LY FF FATET g1 M Fad
TF Afed ¥ FH FAE ¢ O Fad a IfFadl ¥ 3AWF FATAT &1 K2 91 FATAT ¢

3R 3Tgaw a8 &

Q14. What could be the salary of O?
(a) 1 lakhs (b) 1.5 lakhs (c) 1.75 lakhs (d) 2.5 lakhs (e) Less

than one lakhs

Q15. Who among the following earns lowest salary? (a) K
(b) L (c) O (d) N (e) None of the above
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Q16. Q17.

Statements: Statements:
W=>I>8S=D>0<M<F C>A<K<E=T<]=N
Conclusions: Conclusions:

L.D<W . N <K

[11.0<1 [I.A<]

(a) If only conclusion I follows. (a) If only conclusion I follows.

(b) If only conclusion II follows. (b) If only conclusion 11 follows.

(c) If either conclusion I or II follows. (c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows. (d) If neither conclusion I nor II follows.
(e) If both conclusions [ and 11 follow. (e) If both conclusions I and II follow.
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Q18.

Statements:
P<Q<S=T<]<R>L
Conclusions:

.J=P

I. T<L

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(c) If either conclusion I or Il follows.

(e) If both conclusions I and II follow.

(d) If neither conclusion I nor II follows.

Q109.

Statements:
K<I=TE<REZ>Y=2W
Conclusions:

I.Z>K

ILR>W

(a) If only conclusion I follows.

(b) If only conclusion Il follows.

(c) If either conclusion I or Il follows.
(d) If neither conclusion I nor Il follows.
(e) If both conclusions I and Il follow.
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Q20.
Statements:
T>0=2BzA=C=X>Q
Conclusions:
[. X0
[.LO=C
(a) If only conclusion I follows.
(b) If only conclusion II follows.
(¢) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.

=i
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Point A is 16m to the East of Point B. Point D is 6m to the South of Point B. Point E is 4m to the North of Point
A. Point C lies exactly between Point A and Point B. Point G is 8m to the East of Point D

faig A, fig 8% qd & 16 #ex 1 &g b, g B & gfavor & 6 Aex 71 g £, g AF 3w 7 4
A Bl g cfag Ak Mg eF Sx fiw A 31 Rg 6, Rg sR 8 Mex T 81 case A & @

Q21. In which direction is Point G with respect to Point E?
(a) North (b) Northeast (c) South (d) Southwest (e) Cannot
be determined

Q22. What is the shortest distance between Point G and
Point A? (a) 8m (b) 9m (c) 10m (d) 12m (e) None of these

Q23. If Point H is 8m to the West of Point E, then how far is
Point H from Point G? (a) 4m (b) 8m (c) 10m (d) 12m (e)
None of these
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In a family of seven members there are four female members. H is the mother of J. E is sister-in-law of H. L is
the only brother of E. M is the father of L. K is sister of J. N is mother-in-law of H.

AT el & T IRIGR & IR Afger T &1 H, ) &1 AT §1 E, H AT R[ee-ga-a1 g1 L ESI
SFdtar H1E ¥ M, LFT Rar §1 K, ) g8 T N, HET F1F 2

Q24. How is J related to E? (a) Niece (b) Nephew
(c) Sister (d) Brother (e) Either (a) or (b)

Q25. How is N related to K? (a) Aunt (b) Mother
(c) Grandmother (d) Daughter (e) Cannot be
determined

Q26. How is M related to H? (a) Uncle (b) Father
(c) Brother (d) Father-in-law (e) None of these
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Q27. If “summer is hot” is coded as “mo ka pa”, “may is summer” is coded as “ti ka mo”,
then “hot may” will be coded as?

Ife "AT 57 gIE" & "AT HT 9" F T H H15 FAT AT §, "H ST FET A
" ST A" F T H HIs FAT SET 7, O "glc A" F FAT s fhAT SATCIN?

(a) ka mo (b) mo ti (c) pa ka (d) ti pa (e) Cannot be determined

=i
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Q28. How many pairs of letters are there in the word” WINTER” which have as
many letters between them in the word as in alphabetical series?

ASE “WINTER” & &R & W fhaar oo § fSerah ofi=r 3o & 3rew @
IECCIEECLICET I Y

(a) One (b) Two (c) Three (d) Four (e) None of these

=i
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Q29. If all the alphabets are rearranged within itself as they appear in the English dictionary
in the word “TELEPHONIC” then which of the following will be third to the left of eighth

from the left end?

Ife AT ASGHIA A "TELEPHONIC" ereg & THT 318 39t 3T H <qaiedd g
ST 8, df Aefaf@d & ¥ &l 97 @R q 369 & artr#?hws’rtrr?

(a) H (b) I (c) L (d) N (e) None of these

=i
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Q30. Find the odd one out?
(a)ACE

(b) FHJ

(c) KMO

(d) PQT

(e) UWY
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Seven persons M, N, O, P, Q, R and S like different movies viz.
Dangal, Dabangg, Veer-Zara, Gangajal, Airlift, Ram-Leela and
Barfi. All of them like different channels viz. Colors, Zee, Sony,
Star plus, HBO, MTV and UTV(but not necessarily in the same
order). P likes Veer-Zara. O likes Sony Channel. The one who
likes Ram-Leela likes HBO. Q likes Gangajal movie but does not
likes Colors or Star plus. The one who likes Veer-Zara likes
channel Zee. S likes Barfi but does not like Colors channel. R
likes UTV but does not like Dangal. M likes movie Dabangg.

| SATFT M, N, O, P, Q, R AT S 3rerer-3rerar fhest g Htd & 34l
&aTel, &4, a°ITG|RT TS, TIR TS, TH-oATeT 30T T6f| 3T Tl Y
mmmm%ﬁm Ferd, oY, Wi, TER oaw, veia,
mmm(mmaﬁr%mmﬁw P &I dR-STRT
qHE &1 0 FY Wit SeTer o ¥ 98 TS oI TH-oleT THE & 3Q
T3 9HE 81 Q FY ISl et 9HE § et Ferdl IT FER Sod
q3c T8l g1 98 Afad o8 -3 qde 8, <erer Sft 98 FIar &1 S A
T 9HG § AfheT Herd AoTel THG 181 o | R ) AT THE g AfdheT
&9Tel 9UC AsT §1 M Y Rhes gar gag ¢
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;Ersnn ::bt:egg E:;‘:‘“' Q31. Who among the following likes movie Ram-
N Ram-Leela HBO LeEIa? (a) M (b) N (C) R (d) O (e) None Of these

0 Dangal Sony

P Veer-Zara Zee

: e iy Q32. Who among the following likes channel

S Barh Star plus Star plus? (a) The one who likes Dabangg (b) N

(c) The one who likes Airlift (d) The one who
likes Barfi (e) None of these

Q33. Who among the following likes MTV? (a) P
(b) S (c) The one who likes Gangajal (d) The one
who likes Dabangg (e) None of these
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Person Movie Channel Q34. Which of the following statement is true?
M Dabangg Colors (a)O likes movie Ram-Leela

. z:;;‘l“l“ :ji (b) S likes channel MTV

5 Veer7am e (c) The one who likes Dabangg likes Colors

Q Gangajal MTV channel

R Alriih UTv (d) The one who likes Airlift likes channel Star
S Barfi Star plus pIUS

(e) None is true

Q35. Which among the following combination is
correct?

(a)M - HBO

(b) R — Ram-Leela
(c) Gangajal - Colors
(d) All are true

Tl
(e) None is true
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